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1 [&54 2356 4]

(1) (2+x+1D(x2—x+1) (2) %

(3) x <3 (4) cp=12n—-1
(5) 1, -1, 1) (6) 2V3
(7) y=ex—2

2 [84]

0=18° L3 5L, 56=90°ThHDH1bH, 20 =90°—30
sin 26 = sin(90° — 30)
sin 260 = cos 36
2sinfcos® = 4cos3 6 — 3 cosh
cosf =0 THLHMND,
2sinf = 4cos?0 -3
2sin® = 4(1 —sin®9) - 3
4sin®f +2sinf —1=0
—~1++5
4

-1++5
4

sind >0 4"Y sing =

I 72 bH  sin18° =
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(1) ZABC=6 < &,
MICEET 2 UAEOME LY, ZADC =180°—-0
AABC IZB\WT, RELEH LD,
AC*=62+42—-2-6-4-cosf
=52 —48cosf - @
AADC IZBWT, RREHLY,
AC*=82+42—-2-8-4-cos(180° — 0)
=80+ 64cosf - @

D, @Xb cost—%

77, Ok AC>0ThrHH AC=8

(2) AE : EC=AABD : ACBD
/BAD=a £ B< &, HICHNETIZNAROME LY, ZBCD =180°-«a

1 1
AABD=§-6-8-sina: 24 sina ACBD=§-4-4-sin(180°—a) = 8sina

L ~-7T, AABD : ACBD = 24sina : 8sina=3:1
J72bb AE:EC=3:1

. 1
L7ZH- T, EC=ZAC=2

1 1\2 15
(3) (1) 5 COSQ:_Z DT sind>0Xx"v, sing = 1_(_Z> =g
1 15
AABC:E-6-4-g=3\/1—5
AABC : ABCE=AC:EC=4:1Th5HM b,
1 3V15
S:ZAABC:T
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4 [(1) 58 (2) 6 (3) 74 FH18A]

(1) 9l FED S L, NABA3ME, AR 2MEUCEND,

9!
KD BNEF| DFEIE 7" 30240 i Y

6!
(2) NLUSD 6 Lol ~FF1x 5= 360 &Y

A7 SCFFN O L OSCF/IO 7 4 A b,
N3 fHZ AN DB FFOEN 1L 7C3=35 @Y
£oT, ROLGEOHIT 360 x 35 = 12600 18 Y

(3) O3 2ONBEEY BT, 222 DOANHY & HA~T7 - O OREERD D,
BV A I AAZETEDTATRT &,
A', G, O, K, EO5XFOIW~J51EL 5'=120 @Y
A 7= SCFHN O s L OSCFRO 6 7 i b,
N3 &2 AN DBAFORNS 1L 6C3=20 Y
k-oT, QD% 120x 20 = 2400 &Y
L72idoC, ROHGHOHIE, (2) OFREHWT
12600 — 2400 = 10200 i# Y

5  [10.4)

ADHFERELp L35,
ADFHPTRERNETIULp > 05 THLH00 6, IR E L Tp =05 %232 ThH,
ZOMEMAIELWET D E, 400 ADH B Al ?&?Ték@ki&x
TIESYA B(400, 0.5) I2HES . X OHIFHEE m, HEHEHREE o é:ﬁ“éé:
m =400 X 0.5=200, o¢=,/400%0.5x%(1-0.5)=10
X—ZOO

£oT, Z=

T AEHE R4 N (0, 1) I29E D,

EHSMRLY P(0SZ=1.64) =045 THIND, AEAUES%OIEAITZ = 1.64

216 — 200
X=216 Dt xZ= 10 - 1.6 THY, ZOMEITFEARIZAL 2N,

R ZTEHTER, Lo T, ADFPBERENE W L ITHIEr T o0,
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6 [(1) 74 (2) 84 F15 4]

(1) BRotbz 0 L L, EH#LZOELEETOHOH.LE
BOWHETUY Mo7o b &, U1 nD=/AF ABC, LW
MEAABC 05D, EZAXDO LY ITED D,
EM#EO® S, BROBERLYKZNWDOT, x>2Tho,
AAOD |23\ T, ZADO =90°7275

AD =+OA? - OD? = J(x — 1)2 — 12 = Vx? — 2x D .
AABE»AAOD TH 575, BE: OD = AE : AD
T2bb r:l=x:vVx2-2x B

X

>2ThHHNG =
x ’ Vx2 —2x

(2) EH#EOHKEZV L356&, (1) OFEEEZHWT

1 5 1 x 2 mx?
V== -nr -x=—-n(—> X

3 3 Vx2 — 2x B 3(x—2)
AV _m 2x-(x=2)—-x*'1_ m x(x—4)
dx 3 (x—2)? T3 (x—-2)?
dv
—=0&T5L, x>2THLHNL x=4
dx x 2 4
HE LY, x=40L%, Vidg/hERD,
av
ZorE, (1) br=V2Tbhbs, Ix - 0 +
£oT, ROHEMEEDEE O EIT V2
|4 N TN 7
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7 [(1) 64 (2) 104 FF16 4]

(1) ¥~ sine+2sin2
E—_ sint + 2sin 2t

dy
— =2cost—2cos2t
dt

dx\?  dy\’
(2) (E) + (d_}t/) = 4(sin® t — 2 sint sin 2t + sin® 2t) + 4(cos? t — 2 cos t cos 2t + cos? 2t)

= 4{2 — 2(cost cos 2t + sin t sin 2t)}
= 8(1 —cost)

t
é%?%é#% sin= 2 0

(dx)2+(dy)2_ L6si 2t_4 ot
dt dt) — sin 2 San

roT, COEXIX

3

Z rdy\2 Tt t
—_ +(—) dt=f 4sm—dt=4[—2cos—] =8
dt 0 2 21




